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Stratified random sampling is a method of selecting a sample i which
the sample is first divided into strata, and then random samples are taken from each stratum
b. various strata are selected from the sample
the population 1s first divided 1nto strata, and then random samples are drawn from each
stratum
None of these alternatives 1s correct.
2 A variable that takes on the values of 0 or 1 and is used to incorporate the effect of qualitative
variables in a regression model is called
a. an interaction
b. aconstant variable
¢. adummy varable
d. None of these alternatives 1s correct.
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3 A random sample of 121 bottles of cologne showed an average content of 4 ounces. It 1s known
that the standard deviation of the contents (i.e., of the population) 1s 0.22 ounces. In this problem
the 0.221s

a. a parameter
b. astatistic
c. the standard error of the mean
d. the average content of colognes in the long run
4. The level of significance is the
a. maximum allowable probability of Type II error
b. maximum allowable probability of Type I error
c. same as the confidence coefficient
d. same as the p-value
5 For a one-tailed test (upper tail), a sample size of 18 at 95% confidence, t =
a. 212
b. -2.12
c -1740
d. 1740

Exhibit AA
Salary information for a random sample of male and female employees of a large company is
shown below.

Male Female
Sample Size 64 36
Sample Mean Salary (in $1,000) 44 41
Sample Variance 128 7
6. Refer to Exhibit AA  The standard error for the difference between the two means is
a. 4
b. 7.46
c. 424
d 20
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7 Refer to Exhibit AA The 95% confidence nterval for the difference between the means of the
two populations 1s
a. 0106.92
b. -2t02
c. -1.96t0 196
d. -0.92t06.92
8 The producer of a certain medicine claims that their bottling equipment is very accurate and that

the standard deviation of all their filled bottles is 0.1 ounce or less. A sample of 20 bottles
showed a standard deviation of 0.11  The test statistic to test the claim is

a. 400
b. 22.99
c. 485
d. 20
Exhibit BB
The table below gives beverage preferences for random samples of teens and adults.
Teens Adults Total
Coffee 50 200 250
Tea 100 150 250
Soft Drink 200 200 400
Other 50 50 100
400 600 1,000

‘We are asked to test for independence between age (i.e., adult and teen) and drink preferences.

9 Refer to Exhibit BB.  With a .05 level of significance, the critical value for the test is
a. 1.645
b. 7.815
¢ 14.067
d. 15.507

10 Refer to Exhibit BB The expected number of adults who prefer coffee is
a
b. 033
c. 150
d 200

Exhibit CC

SSTR = 6,750 Ho.  pi=pospu=pe
SSE = 8,000 H,.  at least one mean is different
ny =20

11 Refer to Exhibit CC  The test statistic to test the null hypothesis equals
a. 022
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b. 0.84
c 422
d. 45
12 Refer to Exhibit CC The null hypothesis 1s to be tested at the 5% level of significance. The
critical value from the table 1s
a. 2.87
b. 3.24
c 4.08
d. 87
13 In regression analyss, 1f the dependent variable is measured in dollars, the independent variable
a. must also be i dollars
b. must be 1n some unit of currency
¢. can be any units
d. can not be in dollars

Exhibit DD
You are given the following information about y and x.

y X
Variable  Independent Variable
5
7 12
9 10
11 7
14 Refer to Exhibit DD The least squares estimate of by equals
a. -0.7647
b -1.3
c. 1641176
d. 16.41176
15 Refer to Exhibit DD The coefficient of determination equals
a. -0.99705
b. -0.9941
c. 0.9941
d. 0.99705

16 If the coefficient of correlation is a positive value, then
a. the intercept must also be positive
b the coefficient of determination can be either negative or positive, depending on the value of
the slope
¢. the regression equation could have either a positive or a negative slope
d. the slope of the line must be positive
7 In multiple regression analysis, the general hinear model

a. can not be used to date curvilinear ips between variables and
independent variables
b. can be used to curvilinear ips between the ind variables and
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dependent variable
¢. must contain more than 2 independent variables
d. None of these alternatives 1s correct.

18 In an analysis of variance problem involving 3 treatments and 10 observations per treatment,
SSE=399.6  The MSE for this situation is
a. 1332
b. 1332
c 148
d. 300

19 When an analysis of variance 1s performed on samples drawn from K populations, the mean
square between treatments (MSTR) is

a. SSTR/nr
b. SSTR/(ny- 1)
¢ SSTR/K
d. SSTR/(K - 1)

e None of these alternatives 1s correct.
Exhibit EE
fx) =(1/10) ¥ x20

20 Refer to Exhibit EE  The mean of x is
a. 0.10
b. 10
c 100
d. 1,000

21 Refer to Exhibit EE.  The probability that x is between 3 and 6 1s
a.
b. 0.1920
¢ 0.2592
d. 0.6065
22, Inaregression model mvolving more than one independent variable, which of the following tests
must be used n order to ¥ 1f the rel hip between the dent variable and the set
of independent variables 15 significant?
a. ttest
b. Ftest
c. Either at test or a chi-square test can be used.
d. chi-square test
23 In simple Linear regression analysis, which of the following is not true?
a. The F testand the t test yield the same results.
b. The F test and the t test may or may not yield the same results.
¢ The relationship between X and Y is represented by means of a straight line
d. The value of F =1}
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Exhibit FF

You want to test whether or not the following sample of 30 observations follows a normal distribution.
The mean of the sample equals 11.83, and the standard deviation equals 4.53 The number of intervals or
categories used to test the hypothesis for this problem 1s 6.

2 3 5 5 7 8 8 9 9 10
11 1 12 12 12 12 13 13 13 14
15 15 15 16 16 17 17 18 18 19

24 Refer to Exhibit FF The calculated value for the test statistic equals
a 0

b. 1.67

c 2
d 6

25 Refer to Exhibit FF The hypothesis is to be tested at the 5% level of sigmificance. The critical
value from the table equals

1.645

196

7.815

12.592
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